Modul 21 - Notenstand vom 24.04.2013
Aufgabe 29: korrigiert
1. Note 2. Note 2.PZ Gesamtnote

1 B. M. xxx233: 1,0 n.t. n.t. n.b.

3 B.F.xxx227: 1,0 n.t. n.t. n.b.

5 B. S. xxx249: 3,0 n.t. n.t. n.b.
6 C.Fo258 10 nt ot onb.
7 C. A xxx740: 1,7 n.t. n.t. n.b.
8 C.G.xo508 20 nt ot nb.
9 D. C. xxx299: 2,0 n.t. n.t. n.b.
10 D.loo627: 10 ntooat o onb.o
11 D. F. xxx867: 1,0 n.t. n.t. n.b.
12 EJ.xo814: 10 ntoat nb.
13 E. M. xxx257: 2,0 n.t. n.t. n.b.
14 G.A 04490 13 ntont nb.
15 G. R. xxx231: 1,0 n.t. n.t. n.b.
16 G.S.x0612: 17 nt ot nb.
17 G. A. xxx222: 2,3 n.t. n.t. n.b.
18 H.R00258: 10 nt ot onb.
19 H. J. xxx235: 1,7 n.t. n.t. n.b.
20 KRxoox784 23 nt ot nb.
21 K. P. xxx264: 1,7 n.t. n.t. n.b.
22 K Axo680: 33 nt ot onb.
23 L. A xxx295: 1,3 n.t. n.t. n.b.
24 LFxo84 10 ntont onbo
25 N. O. xxx679: n.t. n.t. n.t. n.b.
26 N.N.ooG44: 10 ntoont onb.o
27 O.T. xxx429: 1,0 n.t. n.t. n.b.
28 RF.0o688: 20 nt ot onb.
29 R. A. xxx603: 2,0 n.t. n.t. n.b.
180 S.P.x0539: 10 nt ot nb.
31 S. C. xxx480: 1,7 n.t. n.t. n.b.
182 S.0.x0670: 30 nt ot nb.
33 S. R. xxx397: 1,0 n.t. n.t. n.b.
34 S.M.x080: 23 ntont onb.o
35 S. M. xxx598: 3,7 n.t. n.t. n.b.
136 S.Tooo288: 27 nt ot onb.
37 S. E. xxx226: 1,0 n.t. n.t. n.b.
38 T.M.0o605: 37 nt ot onb.
39 T. A xxx214: 1,0 n.t. n.t. n.b.
40 W.G.x0205: 33 nt ot onb.
41 W. E. xxx343: 2,0 n.t. n.t. n.b.
42 W.C.ox340: 13 nt ot onb.
43 W. P. xxx464: 2,0 n.t. n.t. n.b.

45 K. M. xxx629: 3,0 n.t. n.t. n.b.

46

47 S. M. xxx264: 3,7 n.t. n.t. n.b.

48

49 S. H. xxx154: 1,3 n.t. n.t. n.b.

51 E. E. xxx833: n.b. n.t. n.t. n.b.

53 P.B. xxx611: 2,3 n.t. n.t. n.b.

n.b. = nicht bestanden
n.t. = nicht teilgenommen
J. = entfallt



